03 11 26

G )
18,852 | 18,765 | 0| 87| 0 0.46
R3 R7
69.6  R3 1.3 R
70 7
)
61.5  R3 63.1 R7
62 63
(ha) (ha)
0 R3 100 R7
0 100
C D C )
0 RS 100 R
0 100
C )
0 R 100 R7
0 100
(km) (km)

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-001 n n n n n 1,530
A07-002 [ I 300
A07-003 2 L=2,470m [ N B R 350
A07-004 L=4,220m [ N B R 1,241
A07-005 [ I B A B | 51
A07-006 2 L=2,000m [ I B A B | 530

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-007 " == 119
A07-008 [ I B A B | 263
A07-009 [ I 60
A07-010 [ I 156
A07-011 u 10
A07-012 A=11.2ha [ N B R 417

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-013 LI I 252
A07-014 A=14_3ha [ I B B BN 910
A07-015 A=11_6ha [ I B B BN 153
A07-016 A=70.7ha [ I B B BN 265
A07-017 A=1.5ha [ I B A B | 9
A07-018 u 32

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-019 | B B 806

A07-020 A=3.89%ha | B B 41

A07-021 L=400m [ D B B 400
A=15.0ha

A07-022 [ [ [ [ 50

A07-023 1,000ha | B B 90

A07-024 [ ] 405

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-025 A=12ha LI B 277
A07-026 A=3.5ha LI B 23
A07-027 LI B 2,000
A07-028 A=3.3ha "= 184
A07-029 A=71.56ha L I B B BN 1,011
A07-030 L=605 "= 64

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-031 L=0.6km LI I 138
A07-032 A=19ha LI I 344
A07-033 A=2.8ha [ I B A B | 450
A07-034 A=14ha LI I 112
A07-035 L=450 [ I B B 110
A07-036 A=60ha [ I B B 1,130

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-037 [ ] 30

A07-038 [ [ [ [ 310

A07-039 A=0.9ha | I ] 124

A07-040 L=640m | I ] 94
N=75

A07-041 | I ] 55

A07-042 | I ] 540

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-043 ] 0
A07-044 L=1,847 [ I B 277
A07-045 A=38.9ha [ I B 523
A07-046 LI B 1,635
A07-047 "= 0
A07-048 ] 30

0000346731




R03 |R04 [RO5 [RO6 [RO7

A07-049 . 20
A07-050 L=3,210m | n|m|m 575
A07-051 n n [ n 16
A07-052 | . | . | | | 18| |
A07-053 ] ] | ] 200
A07-054 | | . | | | 25| |
A07-055 . 10

0000346731




R03 |R04 [RO5 [RO6 [RO7

10

0000346731




R03 |R04 [RO5 [RO6 [RO7

€07-001 [a[n]n] ] 64 | |

C07-002 N=250 ] ] ] ] ] 3

C07-003 N=500 ] ] ] ] ] 20
LT o] |
NN o] |

0000346731




RO3

€))

(b

(c=atb)

©)

©

®

@

(h = c+d-e-f)

(i = (g+h)/(c+d))

10

0000346731



